NDU
Notre Dame University
MAT 235
Differential Equations
Exam II
Tuesday January 12, 2010

Duration: 55 minutes

Name: M

Section: gt

Instructor: S,

e

Grade: i



1) (15 points) Solve the differential equation
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2) (35 points) Solve the initial-value problem
' y'+y=cosx

»(0)=0,5(0)=1

using the undetermined coefficients method.
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3) (30 points) Solve the differential equation
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4) (20 points) Given the differential equation
(l—xz)y”+2xy’ =0, -l<x«l
a) Given that y, (x) =1 is a solution, find another solution y, (x) using the
reduction of order method.




b) Check that y,(x) and y,(x) are linearly independent.

¢) Deduce the general solution of the given differential equation.




